Measuring Length

Learning Outcome: To measure the length of objects in

centimetres.

What is the length of each object in centimetres?

The chocolate baris __ cm
long.

The scissors are cm
long.

The ribbon is ___ cm long.

The paper clip is cm
long.




Measuring Length Answers

Learning Outcome: To measure the length of objects in

centimetres.

What is the length of each object in centimetres?

The chocolate bar is 6 cm
long.

The scissors are 7 cm long.

The ribbon is 5 cm long.

The paper clip is 3 cm long.




Measuring Length

Learning Outcome: To measure the length of objects in

centimetres.

Measure the length of these objects with a ruler.

The chocolate bar is ___ c¢cm | The wood is ___ cm long.
long.
The penis ___ cm long. The trumpet is ___ cm long.

e

The needle is ___ c¢m long. The nailis ___ cm long.
The ribbon is ___ cm long. The paper clip is cm

long.




Measuring Length Answers

Learning Outcome: To measure the length of objects in

centimetres.

Measure the length of these objects with a ruler.

The chocolate bar is 5 cm
long.

The wood is 7 cm long.

The pen is 8 cm long.

The trumpet is 6 cm long.

\

The needle is 4 cm long.

e

The nail is 7 cm long.
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The ribbon is 6 cm long.

The paper clip is 3 cm long.




